Math 5B: Quiz 3

Name JMXMFMJ Perm #

Circle your section number: 1 2 3 4 5 6

There is a second side to the quiz!

1. (a) Find a parameterization for the curve that traces out the ellipse 22 4 4y = 4,
startlng at the point (2, 0) and endmg at the point (0, 1). : :
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(b) Write the formula you would use to compute the length of the curve in part (a). (Hint:
your answer should be in the form of an integrall)”
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Problem 2 is on the back.



- 2. If you know that the velocity of a particle is given by the formula v(¢) = 2¢'i + #j, and if
you know the position at time ¢ = 1 is ¢(1) = (2¢, 1, 2), find a formula for ¢(2).
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(b) Write a parametric equation for the tangent h'ﬁe to c(t) at time ¢ = 1.
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